H100mBF

1#8] No. [+1.2m FiE JESL]  EEE% 2%] No. [+1.9m FiE IEfz]  EE8%
3 E& &RE | ILEREXR 1 10.77 3 2H k NLEEEER 1 11.00
2 S LEEBREXR 2 10.95 4 | 71293[ LI 3¢ A ILEREXR 2 11.09
4 71305[ 1% Bk 2|[LEREXR 3 10.95 1 1763[#3 1 Z=X 3|t A 3 11.20
1 CPAEREES 24|[ASTH¥< 4 10.95 2 ERE 1K ]LEREXR 4 11.21

3#[ No. [+1.Im FiE JESL]  EEE% 4%] No. [+1.Im g IEfz]  EE8%
4 3365I%F i 3| BEH 1 11.26 2 | 71245| A ERMI[IGEX 1 11.44
2 5567 H E= 2|[GIERTST 2 11.35 3 1980|5t5 BF | 3|ZEHT 2 11.51
3 71300 54K BRI 2|[LEREXR 3 11.40 4 = LK MIIEEX 3 11.62
1 68| HEF EiE AR 7 11.48 1 FIE A | 1|GEEEA DNS

5% No. [+l.Im i JERL]  ER8% 6%1] No. [+0.5m FiE o] GRS
4 1896[imE BX [EHIE 1 11.38 1 629| TR _REIF [ 3208BFEI5T 1 11.31
3 2084[EAfH & 3|l 2 11.41 3 Jih = LEEREX 2 11.56
2 B #WE 18| [ SRR KX 3 11.43 4 77 IER PEEE 3 11.67
1 80[ILF I 1 EEEEER 7 11.74 2 2127 KA B% | 3|&m 4 11.87

7#] No. [+1.2m FiE JERL]  ER8% 8#[ No. [+0.3m FiE IEfz]  EE8%
1 1673 FEIE 3|15 B ERRF R 1 11.20 1 918|MAK & 33|ASTHY = 1 11.67
4 939 Il #hk 2[FFA 2 11.47 4 2273| Gl =88 | 18|EmER 2 11.68
2 1065| K A& 2[Ft A 3 11.63 3 1058 =78 #&1A 3[LEX 3 11.80
3 1064| KJI|_Z& 2[FA 4 11.70 2 1990|7 A & | 3|ER DNS

OfE] No. [+1.6m e IERL]  sc8% [10# _No. [+0.4m iz Bz 8%
3 2077| K HE RIES L 1 11.73 4 2082 BEE 3| =RE™ 1 11.98
2 3474 NER BE 3|paE b 2 11.85 3 21 JIAR HERK PAEA=E 2 12.14
4 2103| AR 1a# 3| FFFE 3 11.95 2 1124|278 B 2|HA™ 3 12.36
1 1038[ &Il i 2| EHT 4 11.99 1 1034 FREX_F0h 2| EHT 4 12.49

(1% No. [+1.5m iR JERL]  ECER [12%H  No. [+0.3m e IERZ]  EEE
1 1291[HE X AEShd 1 11.75 1 3874/ BR[| S[AULEFTSR] 1 12.09
3 [N ALEBIEX 2 11.91 3 1665[ILO &E RES: A= 2 12.35
2 1052| 2% B#® AN 3 12.13 4 1857| 5 H #& R EE i 3 12.41
4 1694| E# BB R ES=a DNS 2 112088 B+ AEAEEH 4 12.48

[13%] No. [+0.9m e JERL]  ECER [143H  No. [+1.2m R IERZ]  EEE
1 3475|F%E & 3| P& 1 1217 1 2052| %% EA 3|IFFE 1 12.30
4 58X EX 1|15 B EEF B 2 12.25 3 1136|F ZEX 2[EHIE 2 12.46
3 1382[#EIE &K AN 3 12.58 4 2130|f8H W 3| EHT 3 12.66
2 Z25 BE 1[fA 4 12.59 2 1549 KH R FESREE DNS

[15%] No. [+1.2m iR JERL]  ECER [16%H  No. [+0.7m R IER]  EE8%
4 | 71295| F@ W& |ILEREX 1 11.66 3 | 71283[E)Il EARER 4[LELEFX 1 11.73
1 1083| i Eth 2| 2 12.03 1 | 71299519 &% |ILEREEXR 2 12.19
2 1990| AR #hE 3| EHT 3 12.03 2 11225 FEAER AEA=L 3 12.61
3 1350[ 1WA %8 AN 4 12.04 4 1123[FJIl 5 AEAEEH DNS

(1720 No. [+1.4m e BRI 32%% [18% No. [+1.0m e IERL]  isk
3 FRE &E [PN=E 1 12.20 2 1131|HAR FL AN 1 11.96
2 11385 & D& AES YN 2 12.48 3 1450 Nk KFE ANNEIEED 2 12.20
1 1143[7H PAES A= 3 12.52 1 937|fE Z#8 | 2[[EEBWmI 3 12.32
4 A A 2| LKKE DNS 4 1140| KEH 22X /EHIE 4 12.77

[19%]  No. [+1.8m & BRI  32%% [20% No. [+1.3m R IERI] 325
2 9[EH FHE PNEEET 1 12.23 1 2075|584 Mt RES L 1 12.44
1 78|R Hth 1| EEEFRE 2 12.60 3 529|Jt R EBRl5 KESNES 2 12.73
3 1322[f5H F&th 49[E £ 1LAC 3 12.68 2 821|{E R AR #HX| 2|[LEBFIE 3 12.82
4 3049|FGR #0iE I FRHEH 4 12.69 4 1561 EH BA AEIRE 4 12.92

[21%0 No. [+1.7m s BRI 32%% (228 No. [+1.8m e IERL]  Eisk
4 523|%H X 3[R 1 12.40 3 3912|id K SR [ 3[AUVEFTSR] 1 12.16
3 1353| ARH KiE 2|15 2 12.73 2 Rk BRA [PNEE 2 13.04
2 1461[H8 & 3| EEH 3 12.83 1 1559|F KiE AEIEGE 3 13.15
1 3884|hiETH &K [AUETFTSR] 4 13.01 4 31|ETE = 3[AUEFTSR] 4 13.37

238 No.  [+0.9m i JBRI]  ERER 243 No.  [+0.8m FiE oA GRS
4 3925|FFIE E%R 3[AVVEFTTSR] 1 1217 2 O K% 3|imHE 1 12.75
2 2074|585 2ZH 3| KErth 2 12.79 3 MENPS 1|5 B EE IR 2 12.91
1 B BER P 3 12.91 1 1095|A& K70 [IP=EE 3 13.18
3 1451 ILH X 2|15 BERRF R 4 13.52 4 1126[Z 7 MR AEA=L 4 13.42

25%  No.  [+0.4m i JBRI]  ERER 265  No.  [+0.5m FiE oA GRS
3 12097|f 5 F EL AESSEE 1 12.89 1 1108[3LFH FEiD 2| [EFkRH 1 13.25
2 12090[E5F% #XK AESE 2 12.90 3 1462| =38 Fez @] 2[REH 2 13.38
4 535|TT A &R 2| K 3 13.27 2 1096|[R O N4t [IP=EE 3 13.43
1 EE S LEEZEER 4 13.31 4 £E IERR 2[R 4 13.96

2738 No. [+1.1m i JBRI]  ERER 28%  No. [+0.8m FiE oA GRS
3 1051 [HF &3] A=Y 1 12.83 1 [ 12083|=E &KX 2| X% 1 13.24
1 1102|RF_EX 3| ILEF RS 2 13.03 4 [ 12093|M#H @ AER 2[XEd 2 13.45
2 3048|%2H 3 3| FHKHEF 3 13.37 3 | 12099[Fk EK 2| K& h 3 13.49
4 1109 Bkl BE{h ADNEEI G 4 13.82 2 1104| @& imt 2| [LEFRREH 4 13.58




[29%]  No. [+1.5m B ERL]  0%x [30%#H]  No. [+0.9m i [ L
1 12088|EA [F5HH 2| KEph 1 13.84 1 SEWL 2% [/ A AESKRC 1 14.49
4 1107 E% ke 2| [LEXRH 2 14.15 3 1562| A 2E AEIEGE 2 14.89
2 BE BR /\6| 5 AR SKRC 3 1453 4 KHE B3} [/hgEAESKRC 3 15.07
3 PR = F /\6| & ARISKRC DNS 2 B EA |/ ENESKRC 4 15.09

[31#]_ No. [+1.0m B ERL]  0%x [32%H  No. [+0.9m e [ L
1 IR FEAER [/N6[EREISKRC 1 15.39 1 BE 3 3| ILEFRREH 1 16.23
3 Ba EA /\6| H A EISKRC 2 15.47 2 EE E#E [/MERNESKRC 2 17.23
2 O & /\6| 5 AR SKRC 3 15.92 3 A IMZF—XLE | 3 18.49
4 E5H BE NS F—XLE | 4 16.70 4 vl =3 [MSUF—XEE | 4 19.33

[33% No. [+1.7m s IERL]  5c8%

4 EH IBR 3| I RHE S 1 12.54
3 Fa B /M| B A ESKRC 2 18.67
1 hos 3l IN[SUF—XEE [ 3 24.18
2 28 et N|SUF—XLE DNS

H400mBF

1#8] No. [m g JERL] 8% 2%#[ No. [m FifE IEfz]  EE8%
2 1673| R HIE 3| LEEEFR 1 49.55 1 [ 71264E# |3 | 4|LEREX 1 50.23
4 RA _RE LEEEEX 2 49.74 3 939[FIl #k | 2[fA 2 50.88
1 71301[ 5% MiFE 2]ILEREX 3 51.90 2 1763|#3 1 ZX 3[AtA 3 50.90
3 556|#H BEZE 2|LRERIZT 4 52.41 4 w2 BH = 24|[AST Y= 4 52.65

3%#[ No. [m g JERL]  ER8% 4%8] No. [m FiE IEfz] 28R
2 77|7)I ER 1| S ERFEE 1 51.45 4 8174 X 2|[LEFRR 1 51.93
3 [N-PN ALETEX 2 51.49 2 1989|186 & 3| EHT 2 52.89
1 71074| R hFH 4LEXR 3 51.89 3 | 71295 F@A W& | LEFEEXR 3 53.08
4 1124[i%:8 B3 PAEA=EH 4 52.84 1 1749| K8 EE 3J[E=EH 4 54.74

5%#[ No. [m FiE JERZ] 8% 6#8] No. [m FifE IERL] 28R
3 1675|#JI IEE 3|15 B ERRF R 1 51.43 1 1676[ILE ERth [ S[LEBEREFR 1 51.88
4 | 71299[51%F FEHR | ILEREER 2 53.17 3 1333[#k A& 2|7t A 2 54.79
1 N B= LEBFEEXR 3 54.07 4 2130[f2H fFw | 3|EH 3 56.06
2 68| GEf S8 1A 4 54.40 2 2133[$H 2 3[ILEE 4 56.37

7% No. [m FiE JERZ]  ERE% 8%#[ No. [m FiE IERL] 28R
2 826]kE 0 &FE 2|[LB¥ER 1 54.20 3 1064[KRJII_EE 2[ft A 1 54.88
1 1120[B 1l B+ 2|EET 2 54.33 2 1065|F AR SR 2|ft A 2 56.07
4 1269 BIR ¥ 2|5 BERRF R 3 54.54 4 2029| )13 1&H | S[E=EFEH 3 56.23
3 2092|F%H FFE— 3[FA 4 57.28 1 3925[hIE E& [hFUETTSR DNS

9% No. [m FiE JERZ]  ERE% (10 No. [m FiE IERL] 28R
3 1896 A RES:TNS 1 54.05 4 1131|HA FL AN 1 55.00
1 2052|#%%& EA RIGEES 2 56.38 1 831 LI K ANNCES 2 55.64
2 2103[ AR fa#H 3| FFFE 3 56.80 3 1138|BE D& AES: TN 3 55.93
4 1214|F A EW AlGEES 4 57.08 2 1052| =5 B& A LER DNS

(1% No. [m FiE JERZ]  ERE% (12 No. [m FiE ERL] 28R
1 3475 H%E & 3| Bl 1 56.34 2 2074|585 EZE| 3|XHT 1 59.58
2 1143|714 & PEX:N 2 58.65 3 2051[6iIEH EA 3| AR 2 1.04.30
3 1549 RKHE R 3|REH 3 59.19 1 3884 |k ey EA[FHIAULET TSR DNS
4 9[EhH FHE 1|5 B EE R DNS 4

134 No. [m B JIE £z 8%

1 1105[;87K 3R ADNEESG 1 1.02.58
2 1112|&F E—H 2|[LB¥ET 2 1.03.23
3 &g g 2|[LEZERH 3 1.03.76
4

H80OmBEF

1#8]  No. IR E FilE JERL] 8% 2% No. HEE | F FilE IERL] B8k
1 71060(HEEF 4t ][ILEXRE 1 2.00.13 5 1431[3 F EFIE AN 1 2.08.21
3 1675(#JI IEE 3| IL B EIRRF R 2 2.00.73 3 314|#E AR | 2|4 HeG 2 2.10.98
4 1749 K8 ®E 3[E=FH 3 2.01.20 2 1553[JII.E EERE FESREE 3 2.11.55
2 1313[EF E& 24[E£1LAC 4 2.03.11 6 1130[&5 8 F& 2| I KR 4 2.12.18
6 1214|F A EW AlEES 5 2.07.69 4 1127|EH EiE 2|HE™ 5 2.14.63
5 | 71270|RE R¥E |ILEREX 6 2.08.10 7 1550[{E.E K FEIEE 6 2.16.87
7 119[FHFO ] 2|EHT 7 2.11.88 1 17505t R%& [E=FH 7 2.20.66
8 8

3#[ No. kst F FilE JERL] 4%8]  No. HiE | F FilE JERL] &
2 A& B 3|;EEF 1 2.11.22 6 8 £EA [/MAERNFESKRC 1 2.35.72
1 1125|784 1818 AEA=EH 2 2.13.02 2 KHE B3} [/hgBEAESKRC 2 2.35.76
3 1551|820 BEE 3|REH 3 2.13.14 3 B EBEX [/hdEARSKRC 3 2.45.04
4 1557[ 1L B8F REIEEE 4 2.17.09 1 iR FERER[/1v6 B A SKRC 4 2.45.64
5 2051[gTE EA 3| FFFE 5 2.29.91 4 EE E#E [/MERNFESKRC 5 2.56.03
6 BE BR /\6| 5 AR SKRC DNS 5 O & /g B NEESKRC 6 3.05.45
7 iR =3} /\6| & ARISKRC DNS 7 F8 &gt [/MEAERNESKRC 7 3.19.98
8 8




H1500mEBF

1#8]  No. IR F FilE JERZ]  ERE% 2% No. HEE | F FilE ERL] 28k
1] 71086[FlR SH3I INEES 1 4.19.40 5 | 71060[1E% £ | 2|h&k 1 4.36.11
2 71270| BE )8 | ILEREXR 2 4.22.01 10 NEY) =g 2[EEFES 2 4.36.59
3 2029|)113% &3 [E=ZEH 3 4.22.33 2 2955| 5 H B8 | 2|=dt+ 3 4.40.12
4 1333[#h A& 2|ft A 4 4.24.65 9 531|fMEH B[ 2[XiNg 4 4.40.46
5 ¥ EW 3/EHEF 5 4.25.69 3 1119[HFO MR 2|HHET 5 4.42.96
7 AR RE A NESKRC 6 4.27.08 1 3053[38E EK 2[FHRHEF 6 4.43.95
10 FIESRS MRC 7 4.27.32 4 3917|# A 2|0PC 7 4.44.21
8 5088 ILIIG HEE FHEIGE 8 4.30.63 13 1552|F% % FESREE 8 4.44.94
14 ME EH EBREXR 9 4.30.88 6 3883|/\IEEB FA[ 2[OPC 9 4.46.02
9 50861 HH K— FEIEEE 10 | 4.33.94 11 i B | 2[REFFED 10 | 4.46.82
6 2092|FME 3— 3[FA 11| 4.34.22 7 10534 ZAE| 2[MhilLam 11 | 44861
12 1125|784 1818 2|[HE™ 12 | 4.38.71 8 3196[%M@ ZFiy | IE=F 12 | 44939
13 3051|381 BE [ FHRES 13 | 44462 12 2076|mH hiE RESSLE 13 | 4.53.34
11 1127|EH EE 2|[HE™ 14 | 451.40 14 3199[HEE =K R 14 | 456.08
15 15

3#[ No. IR A £ FiE JERL] 8% 438 No. HEE | & FiE IEfz]  EE8%
1 2072|F%FAK MER RESSLE 1 4.45.28 5 1117|RH hiE 2| [LEFRRH 1 4.47.99
9 BH EX 3[;EAF 2 4.46.63 7 A K 1[EEH 2 4.49.49
12 1563|fXNH EZ I 2| REH 3 4.49.45 8 A &R S 3 45111
4 5090(5H EXEA AEIREE 4 4.51.91 10 | 12098[ILF EEK 2| KEch 4 4.54.84
13 1554[5hth B3 FEIELE 5 4.52.09 9 [A02345 [(ZH RIE 557R2 5 4.55.06
10 IR 3BEF 6 4.53.29 3 3202|F 8 EAH 2la=d 6 4.55.80
6 3198[7B/K Fh REEL 7 4.53.59 4 31973 AK HE 3EEH 7 5.02.25
8 EA = AREELS 8 45410 14 [EADEEESS] 2[LLB5 8 5.02.98
7 T E#E 2|REB TR 9 4.54.32 1 3921[pBH #2—PBA[ 1|OPC 9 5.03.90
14 1558| M0 = AEIRE 10 | 455.25 6 3052|f0IE 3 2| FHRHE$ 10 | 5.04.09
3 5001|425 AKX 2|EJRs 11 4.55.94 11 3194[ E@H K& RIS 11 5.12.62
2 5092|FiH &% AEIEES 12 | 456.39 12 3201[IER B2 AL 12 | 5.24.00
11 MH 3} RIE:EE 13 [ 457.15 13 2134|%8 E5 3| 1ILIB5 13 | 5.45.37
5 5084|F = REIEES 14 | 5.02.70 2 2073|&HH s RES 4 DNS
15 15

5%  No. FRIRE F FilE JERL] B8k
5 1115|B4N 1 2| [ EF R 1 5.07.48
11 12092|EF R AESSL 2 5.13.75
1 12084[F0H EX 2| KEpch 3 5.14.93
7 2078|P A REH AESL 4 5.20.18
3 1564| B2 % 2|RIEH 5 5.21.91
10 | 12094[ LK Fth AESSEE 6 5.23.97
9 1106 | ¥R BRARD AN 7 5.24.72
2 2951 |2 mE 1EH 3|=dts 8 5.24.95
6 1116558 5= 2| [ EF R 9 5.35.60
15| 12080|E3f —#b AESSES 10 [ 5.44.12
4 3200(HE X AL 11 5.44.44
14 [ 12091|f&@ —E AESL 12 | 54478
8 ;IR 2| K 13 | 5.52.90
13 1113| =M £33 2|[LB¥ERET 14 | 553.94
12 1114]luh BiE ADNEES G 15 | 554.15




B%F100m

1 [EZE [+2.5m FiE IEfz]  FRER 2% [EE [+1.8m FilE BRI  EoER
2] 584|FEEm EE AN, 1 13.01 3] 535|HA FAE 2|15 B EEFRR 1 13.60
4] 1320| FH e RIESEES 2 1317 1] 1053[&)Il HE RESES 2 13.76
3 64|88 —F 1HALZFS 3 13.51 2| 676[;EH EE AEZ YN 3 13.90
1 66|k Bk 1EEARLUZFS 4 HX s AR 4 13.92
3fH [EE [+1.5m iR IEfz]  ERER 488 [ELE [+1.5m FilE BRI Eo8%
3| 2072|BR E£3=F AESSE 1 13.60 3] 1096/ & FEAR 3|FtA 1 13.49
4 1024|=iE 1354 4[EEX 2 13.62 ANRES I ESS] AEAEET 2 13.84
1| 1156|2858 & J[EE™ 3 13.63 2] 2064|RI)II EE 3| XEh 3 13.94
2 51ILA &R 1|l 4 14.27 1 R = [IMMEE 4 14.06
5% [EE [+1.8m FiE IERT]  EoE% 6% [EZE [+1.3m [ i IERLI]  EoER
2| 10492 ETH 3|&FdEmh 1 13.50 1] 1244|Bh  ERF 3|EHE 1 13.56
4] 1521[F8R EC RIS 2 13.77 2| 1461[luX o= AEETL 2 13.72
3 37| TF EB PNEEESSS 3 13.81 4 [aE EF LGS 3 14.19
1] 1331[EER #BZE KIES:ES 4 13.88 3| 1548[HiE B2 KIEIGEE 4 14.27
7% [EZE [+1.5m & IERL]  EoE% 8% [EE [+3.0m i BRI  EoER
1] 1043|F%E FiE 3| Is S EEFRE 1 13.73 2| S813[BHl ZZE ES:ES 1 14.12
2| 1327|218 %F KIES:E:S 2 13.99 3| 1552[#M&F  HF0 AEIGLE 2 14.35
4 38| Kk 1A PNEEESSS 3 14.63 4] 1547[F8 BE KEIGEE 3 14.45
3 36IAX B PNEEESSS 4 14.91 1 35E  HX FNETEEESS 4 14.45
off [EE [+1.1m FiE IERT]  EoE% 1048 [EE [+2.5m FiE IERLI]  EoER
1] 1379[#aEH  #FiH] 3[FAA 1 13.55 1] 3896[AJII k& 2]0PC 1 13.90
3| 820|ILH FZE AES:ES 2 14.19 2 TH BED 1{A A ESKRC 2 14.50
2| 3053|1Eh HiZE [FHKEF 3 14.69 4] 1554[3Z)I XZT AEIEEE 3 14.56
4] 667K #& EAEEGH 4 15.29 3| 1453|FE  FiE REELS 4 14.67
1148 [EE  [+0.6m g Bz Rk 1248 [EE  [+2.4m FiE IBGz|  ERE%
1] 795[FF ET 2|15 EEEFRR 1 14.03 2| 534[FEH FEH 2| I EEEFERR 1 13.62
3| 816|AWM W= EA:ES 2 14.09 1| 1305|FRJIl == 3| LEEEEERE 2 14.31
4 I 2 2|REFr R 3 14.68 4 RHE &= AEAELS 3 14.76
2| 529l E=E RS IIE:S 4 14.70 3 HBHE g 3iEH 4 14.93
1340 [EE [+1.1m il Bz Rk 1440 [EE  [+1.4 FiE IBGz|  ERE%
4] 3887[#F XE 2|0PC 1 14.34 3| 1458[HF 2lREH 1 14.36
2] 5758 t£E 2|5 B EEFER 2 14.44 2 RA Ix 3[REFE S 2 14.45
1 sti[EEX RETE ES:ES 3 14.65 1 LTS AEAELS 3 15.00
3| 1457|FF #kK 2 REH 4 14.88 4 5 % AEAEL 4 15.56
1588 [E-E  [+0.9m il Bz Rk 1640 [EE [+1.1m FiE IBGz|  ERE%
3| 1322[N1F &= RIEFEE:S 1 14.56 4] 636[HA HY 2|7t A 1 13.55
1] 1460[1ER IR 2[REF 2 14.75 1] 679/t Ui 2|EHAE 2 14.68
4 ICEES 6| & WESKRC 3 15.02 2 s bE 1[E REESKRC 3 14.95
2| 3052/tER K | 3|FHKHEH 4 15.21 3| 3057[AIE EE 2| FRES 4 15.49
1778 [EaE  [+1.9m FE ERL]  Ee8% 1840 [EE [+1.4m FiE BRI Eos%
2] 780|lLE FiF 2|Ft A 1 14.47 1] 1266|F E 3|5 B EEFEE 1 15.17
1] 1518[/@Ax EBE&i KIECATEA:S 2 14.68 3| 1520[iFE ¥EX KEETIE S 2 15.22
3 812|lUH Eik ES:ES 3 15.01 4 1522|E&X %5 KETEAS 3 15.29
4 2| 2077[;ZH # AEISL 4 15.32
1948 [EE [+1.0m i IBfz| SRk 2048 [EL.E [+0.5m FiE IBfz|  ERE%
1| 3058|tafl EA [ FHRES 1 15.37 3| 1230[= &5 R N=T 1 15.33
4| 2074|HEE Btk 2| X%t 2 15.39 2 AN BE 5|5 A ESKRC 2 15.58
3 a5 XE 1|5 A EISKRC 3 15.44 4] 2076|NHE D¥ AEIL 3 15.86
2| 1451|=EH D EH| 3| EFEH 4 15.70 1 BEfE RA 23t 4 15.93
2138 [EE [+1.9m iR IERL]  EoER 22f8 [EE [+0.7m FiE BRI ECER
3| 2071 BAZEM 2[XFHT 1 15.60 3 AKX EH AL 1 15.48
4 Hefp {3 6| WESKRC 2 16.08 1 CTREETE 6| A ESKRC 2 16.10
1 EE Bx 1| & N REISKRC 3 16.14 2 M KBE 6| A ESKRC 3 16.40
2 WE EK 5| H A ESKRC 4 16.20 4 shef  E 6]5v1-A B 4 16.45
2388 [EE  [+0.4m iR IERL]  EoER 2448 [ELE [+0.7m [ g BRI  ECE
3 EH &b 12 AESKRC 1 16.05 4] 3194[HT EBHF 2[5=+ 1 16.36
4 R ES 5| A ESKRC 2 16.15 2 HFE BF A AESKRC 2 16.36
1| 1526|B® #E% AEAEA:: 3 16.17 3 2 XZ NN 3 16.59
2] 1462[ KXt EFEE 2[RFRT 4 16.64 1 FH Sf 4| 5 REESKRC 4 16.71
2580 [EIE [+1.8m iR IERL]  EoER 2650 [ELE [+2.0m E BRI ECER
2| 2070[lLN EE 2| X%t 1 16.49 2 mE EhH A55-A I8 1 18.51
1 T 6| A EISKRC 2 16.75 3 EE f#H3 4|5 REESKRC 2 18.90
3 DAITIEES 6|30+-2 LB 3 17.46 1 EBH B®IE 21591- KB 3 19.10
4 Hf #E 3| &= RESKRC 4 18.86 4
27#H [EE  [+2.4m FiE IERz]  EoER
1] 3892|RE = 1]0PC 1 14.47
2 & 6| B HREISKRC 2 17.00
3 [EIES: 4[5 R REISKRC 3 19.19
4




EZXF400m

1 [EE FiE IERE]  FRE% 2% [RE FilE JERL]  FRER
1] 1092| FE B 3|FEA 1 58.43 1] 1056[#3H H= 3|tEAL % 1 1.01.46
2 BE  HL EEBEEXR 2 59.37 4] 636|hA HD 2|Ft A 2 1.02.87
3| 1321[8J)I {&H KIES=E:S 3 1.00.53 3] 1096| &K EAR 3[FAEA 3 1.04.00
4| 526[3EH @N S IE:S 4 1.03.33 2] 621[xHF K=E 2| EHT 4 1.05.64
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